Graphing Exponential Functions + Unit 5 Review & Study Guide

Partl:  Determine which functions afe exponential fanctions. For those that are not, explain why

they are not exponential functions,
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Part 2. Graph euch of the following and find the
dommain and range for each function.
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Identify t'he honzon{{al asymptote of (a): |
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Horizontal Asymptote an “invisible” line that the graph of a function never crosses. %%

Identify the horizontal asymptote of (b):

Identify the y-intercept of (b):
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Transforming Exponential Functions << |

Not one of our

original

transformations.

Just be aware of
- what it is.
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Translate leftor  &(x) = b= (graph moves c units lef)

right: glx) =5l (graph moves ¢ units right}
it

] ggmph shrinks .af’ O<cel)

compression:
Horizontal stretch  g(x) =5 (graph shrinks if ¢ > 1} J.
or compresszon {graph smretches if0 <o < 1) /
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Reflections:
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Translate up or

Pant 3: Describe the transformatlon using the function f(x) = 2* as the parent function. Then graph the -
function. For each, identify the domain, range, y-intercept, ept, the asymptote and the end behavioras

X-» oo and -c0. horizontal asymptote.
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Domain: __ 1A Domain: __ K. Domain: i%

Range: \[!'?Ar _ Range: N >@ ¢ Range: N >-3
Y-intercept: (0, 7, } Y-Intercept: H )3 \(O) Y-Intercept: ('O;“a‘)

Asymptote: 9 =4 Asymptote: i% =0 Asymptote: _ N = -3
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Domain:

N>4

Range: __Y

Y-Intercept: ! O, )
Asymptote: _{ ﬁ =4 1
End Behavior: X—200 - 4
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Asymptote:
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Part 5: Simplify the following by applying the properties of exponents.
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Part 6: Write each expression
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in radical form.
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Part 7: Write each expression in exponentiad form.
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Part 8: 1) Find the accumulated value of a $3000 mvestment which is mvested for 8 years at an
interest rate of 12% compounded:
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2) The exponential function f(x) = 84.5(1.0127 models the giapulamm of Mexico, f{x), m
millions, v years after 1986.

(a) Without using a caleulator, substitute 0 for x and find
Mexico's population in 1986, % 4 ; 5 \ “‘ on
(b) Estimate Mexico's population, to the nearest million i 1‘% the year 2000, 7
g= 84.50j.01a) = 9q, %5% mitlioh x 100 mit-

fcy Estimate Mexico's population, to the nearest million, this year.

Y= 84.s(t o138 = 1) % 007 mitlion > 1@ mil
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3) The alf-life of radioactive mrham 14 1s 5700 years. How muc;h of an miiml mmp}'\wﬂ

remuin after 3000 3 viears?
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-4) A customer purchases 2 television for $800 psig a credit card. The interest is charged
‘on an unpaid palance at a rate of 18% per year compounded monthly. If the customer
makes no payment for one vear, how much is owed at the emi uf the year?

y= 800l HEEN? 395,49



5) A diamond ring was purchased twenty years ago for $500. The value of the ring
increased by 8% each year. What is the value of \%hﬂ rivig today?

Y=s00 (1.08)7°="2330 49

6) A tool & die business purchased a piece of equipment of $250,000. The value of the
equipment depreciates af a rate of 12% each vear,

_ >
Write an exponential decay model for the value of equipment. (d: &S%CQQ (o %%%
What is the value of equinment after 5 vears? 3235@; 000 (; @%\) = ﬁ A ﬂﬁa N 8
Graph the mm’ﬁfzﬁ.l € On eraoh |
Estimate when the equipment will have a value of $70,000 G400 gre-S
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Heipful Hint: Count by {0,000 on your y-axis. Count by 2s on your x-axis.

value, of Equipment




